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The standard form of HCI?
HCI aenugen fleveownar augeud arg?
(A) Human-Control Interface
wer seml_Grrer @erL TGLien
(B) Humidity-Control Interface
wllig g ser Grmad @ e rGuav
YC{ Human Computer Interface
C wweir syl L @ rGue
(D) Human Conduct Interface
wietr srer sl @lar iGuey

(E) Answer not known
llen Qgflweilders

is an example for (DCS) Distributed Control System.

.aﬁl‘ﬂ@u_lrréléasuuLL. SLEUUILEH  SiamwiiysE GTETLIG, @({5
T(HSZISSTL(H &L
(A) Emersion Delta V (B) Yokogawa centum
eTinirae Qe m ef CunGsnareur Gaemyylb
(C) Honeywell plantscape erll of the above
anefiQeud) Wermar cvGsL Cwle saflu senansgih

(E) Answer not known
sflenL Ggflweiidvena
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3.  The distributed control system is
igevl Myl 1 &erGrmey flev b eretuig)

W Process oriented (B) Object oriented
Ligreev Fribsg 2 UEMS FMThsS)
(C) Data acquisition oriented (D) All of the above
CuLLnm ysuflaven smibsg CuGe smhlu Simarsgb

(E) - Answer not known
cfen Gsflwefdens

4.  The Remote Telemetry unit contains i
MG QLadl@wiif el ige 2 dreng

(A) Power supply
LeUT FUEneT
(B) - Solar energy, transceivers
Gemeomi eranirgd, Lyrenevdeu e
(C) Antenna
Yo (AT 1))

Y  All of the above

Cuwle 2 drer amaTsgib

(E) Answer not known
sllenL Qzflwuaiicrena

5. Ethernet card, also known as

agiap EmirG . eTemi iemPSSLILRE DS

W NIC (B) MAS

(C) HTT (D) TCP/IP

(E) Answer not known
dflenL @gfluelcrena

439-INSTRUMENT MECHANIC 4



Field bus depends on which one of the following input device
Field bus erérug Geneupd e et B srsamseid gaempl QUInISSs

(A) Sensor (B) Switches
Qaeamt coell_FaeT
(C) Drives @7 Both (A) and (B)
g DTS (A) wogp (B) @rer@n

(E) Answer not known
eflen GQgRweiidene

Medbus is the . of protocol.
Modbus erarug ApHpapsaier ganprEd
(A) Grandmother \ﬂrGranddaddy
Srrer(h LS &UmeiT( LMy
- (C) RTUS - - (D) MAC

(E) Answer not known
cllenL Qgiflwelldveney

MODBUS can operate on only )
MODBUS @ wLHCW GewduL. aprRLd

w 1 Master device per network
@ AL QeuniésdlDg e WreLL T FTHaID

(B) Multiple master per network
@@ QL QeunaH@ Le e T FTSETLD

- (C) Real time network
flwed ep1b QL Gleurtés
(D) RTU

(E) = Answer not known
cflenL Wgilweildoene
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9. Time required for a message to travel from one device to another is

known as

em Gsud qabldlmphg wHpreardlig uvwuailss Cseeuliumb Gprb

eran oplutiuhidpg
W Transit time

L_rme&ll_ enL_b

(C) Response time
QrevumeTev eL_Lb

(E) Answer not known
alenL WzsMNweldrena

(B) Dialogue time
e weng antb

(D) Wait time

Qeuudll. evLb

10. How many types of Gateway are used in Network device?
agsmen euanawner Gal Gou yeng Gl Geumis snganmigafler 2 eremer

N 2
©) 4

(E) Answer not known
eflenL Qzfwueldaa

11. MAC stands for
MAC aemuger effleurésid eramen ?
Y Media Access Control

Bigwim sjevev el Crme

(C) Multi Access Control

g Bjevev serl Grmd

(E). Answer not known
eflenL Ggfwelidene
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(B) 3
M) 5

(B) Media Active Control
WBigwir &y sen_Grme

(D) Maximum Area Control
Gusalloy gflum ser_Crmad



12. specifies a star topology featuring a central hub and
unshielded twisted-pair wire as the medium.,

—————— @ eww  @pUyb, eaedidll  Ueiflavll  SHGUl euw(hD
BpOEETLIS CararL svLmt GLmiureglaws @Ghlssng.
(A) 10 Base 2 (B) 10 Base 5
W 10 Base T (D) 10 Base 8

(E) Answer not known
el Qaflueicrena

13. protocol layer uses the protocols WWW, HTTP, FTP,
SMTP and e-mail etc. ' ' ’
— Gowr wGyrGLrsre WWW, HTTP, FTP, SMTP wpmpw
@Qwule Gurdny ApMiparpsaer LwaTURSS ST

\ﬂf Application Layer Protocol
- saliCsagen Coowr LCTTCLIEmeD

(B) Transport Layer Protocol
gyresenGumi. Geowir 1GyrELr&med

(C) Internet Layer Protocol
@amtdpL Coowr LCITGLI&sETD
(D) Hardware Layer
cueTGlumper Gevwir

(E) Answer not known
aflen_ @gfwefidana
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14. is a collection of point to point links that may form a
circle.

5—-—-———— :rﬂsﬁugj QP UMETLS®E 2 (Heunss gagul umllem @ omllesr
enamTLiLGatle gm@inmELb.

(A) Bus topology (B) Branch topology
pev GLmiGumegdl Qyrerg CLmiGuragd!

(C) Star topology | w Ring topology
eoLmi GLmuGuragl Mre GLriGuregdl

(E) Answer not known
aflenL. Gsfuiefldena

15. A is a set of rules governing data communication
between two devices.
R —— aetug @Qranh FrsaThsERSEE Qe Cuwner sre| S&eIM
QAgr_renu sl GLLBSSD eldHaatien QgnErinmgb.
(A) Message ('Br Protocol
QuavGas LGanCLrsmed
(C) Mediator (D) Sender
Wig Gt i Qearir

(E) Answer not known
aflenL Qghlwaldens

16. Crimiping tool is used to connect : cables for crucial work.
wsHwwrer GCoumassts ——— Cslldisamer Qeveands HflbiGn smeil
vweruRESULBHE DG .

(A) RJ 11 - Phone cable- (B) NIC
RdJ 11 - Guner GsGar NIC

(C) Ethernet & All of these
FSTGEBL | , S DFTEHFILD

(E) Answer not known
sllenL GQzflueilwema
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17. Arrange the correct answer.
sflurer udevew CaibEsHSSH eT(HEE.

(1) RG-8 and RG-11 50 ohms (i) Cable TV

(2) RG-58, 50 chms (1) ARC net

(3) RG-59, 75 ohms (111) Thick Ethernet
(4) RG-62, 93 ohms (iv) Thin Ethernet

®H @ & @
G Gi) @) O G
B ) @) @ @)
© ® @ @ @
D) @ Gav) @) @
(E) Answer not known

cflenL Qzflweildena

18. is commonly used as telecommunications cable.
Qurgeins Qzrene Qgniiy Gasldsems LwaTUBSSLILUGSDE.

(A) - Twisted pair to pair cable
eflev HGuir B SCuir Gg&ler

\gf Twisted pair cable
hellevL &Guir Cafer

(C) Unshielded pair cable
gjamediL L SHGuir Galer

(D) Unshielded twisted pair cable
Sa@mefoL L Helev L SHGui Csildr

(E) Answer not known
cflenL Qgflweiidene
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19. primarily three categories of network in world used.

S 2 @dld 2 _drer Qi Qeumisded 3 (PSHTROWINS
pweTuh gL Slermar.

w{ LAN, MAN, WAN (B) LAN, CAN, WAN

(C) HAN, LAN, WAN (D) CAN, HAN, WAN

(E) Answer not known
sl Qsfiweicrenay:

20. A Network is a group of computers that can communicate with each
other to
A TATYT 123 eTETLIg) &.G&Gﬂaﬂ&.mﬂm @@@Jn@m Simal QeTmILen genn Qsmiy
Qamerer (piguLb.

M Share Information (B) Communication
saeudGmers L&lTseD Qgm_iry

(C) Connection ' (D) Application
@ enanTiL ellesramrLiLID

(E) Answer not known
e Qgflweildane

21. is defined at the change of voltage or current or any
other electrical quantity per unit of time.

@@ el Corsdne Blearanipssnd dwg BlearGerm L ib

sidag Ceaup gCaayb e oemey WIHDSHD euapTUDEHEILHEDG.

(A) Rise time & Slow rate
er(p&s Gy G upenau ez

(C) Delay time ‘ (D) Phase response
gmog Crrb sl Ll

(E) Answer not known
aflenL GgMlwaelidana
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22.

is defined as the ability of a device or a system to
respond to a true value of a measured variable under reference
conditions.

LG 6@(h FTSAMD HOH e ewlibar Sperrarg
GOiy Heoaemwseiear S erelliiiuc. wrhller o arewwrear wHUGDHE

udloafls@b Hper LELD.
(A) Regulation
Siromed (evegl) NS0

(B) True value
2 Gmenio Wl
\Qr Accuracy
) glevadlurtd
(D) Repeatability
Wern Ser@in Gelwssnigw serenio

(E) Answer not known
sllen Gamweilcane
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23. Match the following :

Yeseumauareupenn QUTHSSHE

(1) Length _
Berid

(2) Mass _
Hlenm

(3) Light intensity = —
@aﬂuﬂw éeﬁ]gfo

(4) Temperature _
Qmuu‘r_ﬁ]mm

o o @ o

B aQ @ G @
O @w & @ @
MDD G @ @B
(E) Answer not known
&len Gafweidendd

24. A quantity whose magnitude has definite repeating time cycle is

called

GSOOALL etey e Baw@id Cprs sphHflews Gararl o Sere
orar senwssinBEng:.

M Steady state periodic

Pound
LGy e
Foot
g
Kelvin
Q& el ebr
Candela

CBasas'mqevrr

(B) Steady state aperiodic

Bevawrer Hlava srapanm

(C) Transient
Hlevaowpm

(E) Answer not known
sllen Qg flweilcvane
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(D) Transient state periodic
Blareowpm Heved srapanm
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25. Limiting error are
sLHLubBSHLD e ererug

W’Manufacturer’s specification of accuracy
gievellwwren 2. pusdwrerier efleur@diviy

(B) Manufacturer’s specification of instrumental error
gioalwwrer 2 pusdwurerier elleur@divider Genip

(C) Environmental errors .
&HNIGPOTD huD Yenyp

(D) Random errors

grpp Genyp
" (E) Answer not known
aflen GAsfwelldbana
26. 1 bar equals to pascal.
’ 1 o - LITG&a)&i(E& FLLb.
@A) 10° Ve 100
(C) 107° (D) 10°

(E) Answer not known
eflen QzMwelldvena

27. helps to know the speed of the vehicle.
: aunsaigar Cauagens sidu 2 gaydpg.
W Speedometer (B) Voltmeter
Geusoraf) Geumédr Bt it
(C) Lactometer (D) Energy meter
orsGur B ereomirgdl B Lt

(E) Answer not known
' cflen Agflweaildoene
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28. instrument used for measuring atmospheric pressure.
aueliar_ @ Si(WHssms erell Lweru@ib smell.

(A) Manometer (B) Pressure switch
GuGerrmuSL ragi sefll&

(C) Pressure gauge MAneroid Barometer
Qragi Gsg staflyri® smHpepssome

(E) Answer not known
cflenL Qzfwalicrend

29. The SI unit for the measurement of pressure?
SiWsssms saellheaugparar SI siwe?

(A) Newton (B) Joule
Bl Lt _ a9l
(C) .Kilogram - ) @7 Pascal
FGaordymb LTG0 &ed

(E) Answer not known
cflenL. Qgflweldana

30. The most commonly used strain gauge
Wseyd Qurgeuns LweTLRSSILGHID vl GQrwer Gagy?
(A) Mechanical strain gauge
Qussrafsad evlGnue Cagh
(B) Optical strain gauge
< Ligsd evl Qe Gagy
M Electrical strain gauge
sl iflaed el Griier Gagh
(D) Electronic strain gauge
aaslrrefls evl Gnier Gagy

(E) Answer not known
cflenL Qzflwueiiceney
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31.

32.

A Manometer is a device used to measure .
CuGearmbiL i erétugl ————— Sjarefl. waTL@HL @F S(Hel.
(A) Height WfPressure
2 Wb S (PSFLD
(C) Liquid Density (D) Atmospheric Pressure
Slreu g cuaflioai 2i(p&sLb
(E) Answer not known
eflen. Gsflweidena
A Dead Weight Tester is commonly used .
QL Qauude. Qlev it Quigieurs ——— LuSTUBESLLGEDE.
(A) High pressure
2 WIT (PSS
(B) Accurate measurement of loads
CarenL g@ewiwns serellL
(C) Testing magnitude of the given weight
Gar@ssiiul L erenLulle emeney Gansanen QFulicug s,
\() Calibrate other pressure measuring device
whp GrepT DeteiBb FTsasms HoTe] HHESsD Gadiw
(E) Answer not known

aflenL Qzflweilcene
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33. A Dead weight pressure gauge works on principle.

@ QL Qe Sresit Gagy ————— sd5iusdd dswauBins.
(A) D’Arsonval (B) Abbe’s
D’ =y iGarerreudd SGue
\ber Pascal Law’s (D) D’Alembert’s
Lrevgedlen aild g G bQuiTe

(E) Answer not known
elenL Qg flwefdenco

34. The following is not unit of pressure measurement
1Gerau(meuaT (PSSSH6n G Bdama

(A) PSI (B) mm of Hg
PSI mm of Hg
(C) " BAR : W N/m
BAR (urin) N/m

(E) Answer not known
Aenl. Azsfweidame

35. Air cored inductive transducer are suitable for use
gt Gari greTLed qyrerevipust LweTuhiss ghng)
(A) at lower frequency

GOPHS 2iflileu e
M at higher frequency
o i oyflrbleussr
(C) at equal frequency
gwflevar Fieuehr
(D) as are employed for iron cored transducer
@by Cami g rreevig uLLevFT LwsTuh D
(E) Answer not known
aflenL Qgflweldrens
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36. The best suited for measuring very high pressure
10l& s DPsgsses Jaeilhibd HAphs Gurmssorer &mell

A)

(©)

(E)

Bellow gauge (B) Diaphragm pressure gauge
QuaGor Cagy Lwirsbmn Grever Gagy
Vacuum gauge WPiston gauge

QaupPl Cagy Geveir Gagh

Answer not known
cflenL Qzflusicensn

37. The common methods used for calibrating pressure gauge
Yyegi GCaansy 2etey HEssbd Aeniu urgeurs LwetL@Hb (Wenm

38.

WHydraulic dead weight testers digital indicator and analog

(B)

©

D)

(E)

gauge
el gralld Ll eneul (B Gh_crm_rr gl Led @emasGalr whmib
Sleeons Cag

Sight glass, pressure relief valve
el Herrev, rait el eumdey

Temperature, Sensors, RYDS
QLbuGriair, Qgareri, RYDS

Flow sensors
~eLGerm Cganamt

Answer not known
citenL Qgflueciidend

The SI unit thermal conductivity 1s
T8 2160 QBT s dig el iguller SHmer

(A)

Wm—™K™ (B) WmK'

w(wm-lK-% . (D) WmK

(E)

Answer not known
aflenL GaMwaldens
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39. The following is an example of an active transducer
Gebreuheuareudiled Dpdiqell g FremeniqLLFT—&E, 2 STyaRTid

(A) Strain gauge ' (B) LVDT
Gyl Cagy LVDT

(C) Thermistor \(J) Piezoelectric
Qg ievL it Gy GemeredL Ms

(E) Answer not known
eflen Ggflwaldane

40. The purpose of a glycerin-filled pressure gauge
Seflsfen Hriul L SiWwsssden Crréshd

(A) To reduce the effect of temperature changes on the gauge

reading
Cagy Mg ridled Geuuuﬁlas)a) mnmmrmasefﬂ@‘r elenerajsenan @mmuug,ﬂ)@

(B) To increase the accuracy of the gauge reading
Gagy fighudled godlusams fsfssalb

\B( To protect the gauge from damage due to vibration or
pulsation
Sfitey oeg gyuy ampeons ghuih Crssddmibs Cogh
UNGI&T&ESE|LD

(D) Toimprove the visibility of the gauge reading
Cagy fiyiidler Qgeflay Hanawenw Gmmu@g,g,

'(E) Answer not known
sllenL Qgflwefdend
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41.

42.

43,

The pressure in Pascals at a depth of 1 m below the free surface of a
body of water will be equal to

@@ B Boalar sarwpy Guopuriyss &Cp 1 m wsda uradsada

2 GTeT D(PSHID ————— && FLIOMG GHEGD
(A) 1Pa (B) 91 Pa
(C) 981Pa &7 9810 Pa
(E) Answer not known- :

eilenL Qgflweildeame

In industrial application hydraulic fluid have viscosity grade
ranging from

Qamagien uwearur@said aap gradls Sreuniser alavaravdliiguler syb
(A) 20-50 - (B) 15-44

(©) 70:95 . T 46-63

(E) Answer not known
eflen Qgflweiidency

The advantage of using a single acting cylinder

Aufld <oydigi AT LWETURSFICUSET HATANLDHET GT6TEH ?

(A) High cost and reliable
<2fls QFae| LHNID BOLUSSSETLD

(B) Honing inside the inner surface of the pump is not required
uib Qe o yp Gupuriiyseer aprafin Cseneuulldvana

‘6@)’ Piston seal are not required
Qe FoB Qeuw Cenatuficwens

(D) High liner motion

2 W e @wssbd

(E) Answer not known
dilenL Qztweildenc
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44. Which among the following fluid parameter are not controlled by the
control valve?
Aeteupd  dlyeu IjeTey(HEsarlc TG SLBHuur_( QUG &HETITED
s HULBEsiLL_alldeana

(A) Pressure (B) Rate of flow
S(WPSSLD UL cflflgLb.
Speed (D) Directional valve
Geuald @l L gHlen flens eumdday

(E) Answer not known
cflenL Qgflweilanco

45. 'The reciprocal of bulk modulus of elasticity is called
Opdlpayssamamwamu  Qurss  wrhealldar  seasfp  (Reciprocal)

DM P&EILIH L

(A) Capillarity - ' {B) Viscosity
GasLjeuifli_ig ellevamedlL_ig

‘Q’ Compressibility (D) Vapour pressure
g9lreveui9ediC iy Gautium Myevgi

(E) Answer not known
eflen Gsflueidene
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46. Bernoulli’s equation assumes that
QuirGenmelluilelr swerumy @euaumrmy &HsLIHHDgG

W Flow 1n steady

drel U Lib ﬁ]mwmn&r@j
(B) Flow in low level

Sreu UL gHld Qeaed @amay
(C) Flow in irregular

Areu @ULb QUEasHHpDD

(D) Flow in noise
Sren @l gdld sps1b ghLBag

(E) Answer not known
aflenL Qgflweildens

47. : 1s defined as the ratio of weight of a fluid to its volume.
em SHreugder  aLEGD iger  aellhEd  zdter  eflflgwns
eueTUNISSLUHIE DS
(A) Surface tension (B) Specific gravity

&rGue ClLcrsen GO L FFiry
N7 Specific weight (D) Density
GO L erenL IILiTSE)

(E) Answer not known
éflen Qg flweleene
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48. In potentiometry which of the following is considered the stand
electrode?
Qur’ QL eradCuirtwe dude \Nesteu(mHeuaraubblcd g Hleneowimer
Wetmpenamuns &msLiLhidng) ?

(A) Calcium electrode \K(Hydrogen electrode
sTOFH WD lerapenar Man L. gme Wlerpener

(C) Potassium electrode (D) Copper electrode
Qumr_Lrflwib Wempenar ' smauf lerapener

(E) Answer not known
cllenL @gilweidens

49. . The SI unit of conductivity is
sLggsSnafar SI s

(A) Meter (B) Ohm meter

: B : : b B

(C) Ohm &1 1/(ohm - meter)
) 1/{gpb - BLLiT)

(E) Answer not known
cllenL. Qg Muiefdene

50. The following of bridges are used in dissolved oxygen analyser
Gereusd UIANY sarbs sellger L@Guumuetd LwueTuRSSILIGE eTneT

(A) Kelvin's bridge WWheatstone bridge
Qadelien LnQfgh e avGLmanr Li9fsy

(C) Schering bridge (D) Anderson’s bridge
Qagfl L9feg L irgesr L9flgy

(E) Answer not known
elenL Qs ftweicrensy
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51.

2.

53.

The pH value of saliva after meal?
er9 L Op@ 28phfer pH wéiiy?

(A) 4.8 %5.8
5.8

4.8
© 68 | D) Less than 4
6.8 14-aw Al Garpey

(E) -Answer not known
ellen_ Qg fuwellcbency

The Resistance of the solution (R) can be calculated using

law.
sepsdan (R) efiiieu Gast uuauBsd semsdeomb.
(A)  Kirchoffs law &7 Ohm’s law
glirggnaslien ol guller cild
(C) Pascal’s law (D) Weins’ law
umevgedlen alldl aneuuiafier cild

(E) Answer not known
cllen QgMwelldeney

Pressure regulators are also known as
Qe ArgbalLiser @deurm mpsslinpdamer

(A) Pilot reducing vane wressure reducing valves
eul Qrgy ks GCeue Gresi Qrgufinl eumrde|ser

(C) Pressure releasing vane (D) Pressure releasing valves
Grasi Mededin Ceouss et Mededln eumpeysdr

(E) Answer not known
eflen AgRweildenc
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54. Cavitation in a control valve is caused by
GPlayps®d aatug @@ sLHLUuM_( eurde] snrarons ghuhEns)

(A) process noise
LITTEGR BTG

(C) alaminar flow regime
e CaoldlarmT @ L 1b < @Emse

(E) Answer not known
ellen Qgflwefdency

(B) vibration in the piping
auli9e ghubb ia]

Wpressure recovery
SiPds Sy

55. The following is a energy transfer element of pneumatic system
Genmaumeuareuphled erg HluyGuor s siemwider gond uflbrpp 2 ming?

High pressure air
2 Wit SIPES STHI
(C) Electrical motor

Wemgmy Gumim

(E) Answer not known
clenL Qgfiweliaana

(B) High pressure liquid
2 WLIT SIWPsS Hreuld

(D) Valve positioner
eurévay Guirellegert

56. The following pneumatic cylinders operates on double end of the

Qemeumd  HlyGuon s Hdlam_isefie erg Gaviafler @rie  paveruiled

piston
QurEdpg
(A) Single acting
Smdler gy dig
(C) DCV
DCV

(E) Answer not known
dlen Qgflweldana

439-INSTRUMENT MECHANIC

MDouble. acting

L {67 248lq mi
(D) All of these
@emeu enandg b
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57. The following component is used to drive the compressors
sblreueny @uwiss Wereumeuameupdlédr erm LweTuGSSOILGE DG 2

(A) Air tank (B) Compressor
arit GLmis SIDLITEOIT

M Electric motor (D) All of the above
s fE Gummd @6y inaTSEILD

(E) . Answer not known
afenL Ggflweidena

58. The maintenance is easier and quicker
ugmwoiflin] aafigrerg whmb elesyeureng

(A) Hydraulic system Hﬁneumatic system
L Tredls enLoLiL HuGoligé enoLi
(C) Both (A) and (B) (D) Manual system
" (A) wpgis (B) @perGib " Cugyeud Bl

(E) Answer not known
eflerL Qgfweiicbana

59. Boyle’s law is valid only for
umleev efld @sm@ wi HGw QedgyuiguiIm@n

(A) Non-ideal gases Ideal gases

. BI6T- gl W) GUTW|&E&ET . g WIE) UM |&&HET

(C) Light gases (D) Heavy gases
Caverar eumysser SEILDTE GUMUL|SEET

(E) -~ Answer not known
clenL Qgfweldena
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60. The power source in pneumatic system is
B G s Hav sHlen 558 UMD 6rg ?

(A) Air receiver Compressor
sTHO Gumpise SLOLITEDT

(C) Valve (D) Mulffler
GUMGUGL LI

- (E) Answer not known
elen Qgflueidens

61. i is a continuous indication of liquid level within a tank
or vessel.
— g Qamly Sdegy ursfrsdd oearer Sreugdlen Qgm_rEflwimer
Blene emelit_(h) apann sm_[Hib.

W Sight glass (B) Air purge
. gl lerme . sTHM sSHeMIL
(C) Liquid purge (D) Air bellow
dlreu &5 et sTHm werflaeT

(E) Answer not known
eflenL @gfwsiidbana

62. Torque tube displacer type level detector mounted on vessels (or)
tank can be
Y& ST Hlew sarflsd wuams Hlaariy Ceusd dag Qs iguid
ahGa CumpssUL D,

(A) internal (B) external
o_arGer : : QeuefiCuis
\2{ internal and external (D) far away
2 erGar whHmb QeuefiGu Cgrene Gyssle
(E) - Answer not known
eflenL Qsflwaellerena
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63.

64.

65.

Transparent level gauges ~material used.
QeuafliuenLwimen flene Gagyelldr ————— QuimgpeT LweTLRSSILHEDG.
v( Mica sheet (B) Plastic

MDEET STET eTmeivig &
(C) Glass (D) Metal

SRTERTITIg- 2 Georgid

(E) Answer not known
alanL Qgflweldens

Float type level gauge translate liquid level into readable
measurements by

Wgemeu euens Goeud GCameller Sreu eTaneul)l URsEFigl DeTelLTsE
WIHMIeUG TSETTED

(A) using prisms (B) magnetic coupling
uflevd LweTu@HSSH . &Mhg @enenii

W( float movement (D) light reflection
Blgemey BussD gefl 1rHuedtiuy

(E) Answer not known
eflen Ggilweldena

Float displacer type level measurement employed weight the floats
its converts

- UGer  igevliGara Py, Bever eraify Wsemeulen eTerL el THTSE

LoMHEDE.

(A) weight into tank level “4§ weight into vessel level
QL igullen erenl ojemay . Qeusd (vessel) e amay

(C) weight into displacer @ﬁ\reight into liquid level
e NGeraflem eTepL. iaTey freugdlen erenL iaTey

(E) Answer not known
allenL Qaflwelcdana
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66. Liquids have

STeUBISET eTeLIg)

M Fixed volume but no fixed shape

(B)
©)

D)

(E)

Hlenavuiner LD BieTey LemTe Hlepewirar aligaid Geeana
Variable volume but fixed shape

Ceuflunllar Lmd Satey Y ammd Hlaraumer augellb

Fixed volume but fixed shape

Hlapeowmer LD i6Te] LT Flenawinar culgeuD

All of the above

Geneu SienanggID

Answer not known

eflen Ggfleildene

67. Direct level measurement method is
Crg Hleve et (h apenm

(A)
©

(E)

68.

Air trap method \{Float level gauge
srhm Qurdl wpepm - Blganean Hena emal(h
Diapharm box method (D) Ultrasonic method

LWFUmTD Urésey (penm oL gnGarefla wpeop

Answer not known
eflenL Qzflwelcrensy

1s indirect level measurement device.

WEODAPS BiaTeil () FTHED TETLIS,

)

(B)

Sight glass

engl_ dlermen

Rheostat operated by a float
@ Blgme gpab GuissiiGib AGumevL

‘{ Hydrostatic pressure devices for open tanks

)

(E)

Sobs Gsrqsensarar amant CorevGLigs Bi(PSSID FTHeamd
All of these

@enaeu ammg,g,m

Answer not known
eflenL Qgflwueiidana
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69. Inductive level switches are
@ el e Ceveued el gav eTemLig)

(A) Contact switch \{Non-contact switch
ST GHell & BIET-STanL_Tél el &
(C) Mercury level switch (D) Float switch
Qi deveudd &6l & yGem. Hefll &

(E) Answer not known
 eflen Ggflwellebaney

70. Time of reflection method used for laser level measurement for
purpose of ' ' '
Coyw  Grdlusdily  papulles  Cosr  How  eeilh  pepew
pweTURSglaushaETer CrI&sD

(A) Short distance measurement
Gndlu gy sierelle

‘B( Long distance measurement
BetrL gy emell

(C) Within tank measurement
QBT g 8@ SlaTeflL

(D) OQutside of tank ineasurement
Qamig&@ CeuallGu ojeTall

(E) Answer not known
MenL AgsRwaiidana
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71. Capacitance level sensor is
Qamretereney Hlenew Ceanasmi cramLig

M Die electric conductive plates (B) Single electric plates

Bler sL_ggng S0 gpen Wblersmy sU
(C) Pressure conductivity plates (D) Tri electric plates

SWEBEDS SLSGID 50 gpang Bldremy g6
(E) Answer not known

sflenL Qgfwaicency

72. Time of reflection method measurement used on ___
Grfusdifer Corb werpenwu SiaellRb erelit (B (penm

(A) Radiation level measurement
afliciss Hlone Bierei (G perm

(B) Microwave level measurement
misramrenay Flevaw HeTelL (B (pevm

Laser level measurement
Cagir Hlener emelil.bH apenm

(D) Optical level measurement
gaflldwe Heaw el wpeom

(E) Answer not known
cfllenL Qaflwaidreney
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73. The level of solid measurement in a tank ray absorption
method.
Gamiguiler odrer S o@Qummer Heve amelii® apenpuled
sdlieliss 2 PlerriiubBdng.

(A) Alpha W Gamma
TR ] Smm

(C) Beta _ (D) Infrared
S ' S&ESQII

(E) Answer not known
cflen Agfiueicene

74. Ultrasonic type level transmitter working principle
WBQwmed euena el Lir Gaueme Gaiiyyb Qardrens

(A) Magnet coupling WTime of flight

. &S @)enemTLiL ' . LD U1 Genaeri

(C) Light refraction (D) Light emitted
gafl alleaed gofl 2 Blipged

(E) Answer not known
eflanL Qgflweildane

75. Rod level switches measures with
sl flena el seT eraliHioug)

‘ \( Vibrates ‘ (B) Sensing
ey 2 GTTGED
(C) Non-contact (D) Contact
QzrLiiy @earsg QarLiy 2 eTeng)

(E) Answer not known
cfleni— Qg Mwelcrena
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76.

7.

Capacitive devices are used for the level measurement of
Qauurdll e srgammser Bl el G epudd aams aeif Gdslw
LweaTuREDg.

(A) Gas
eumy
(B) Gas and Solid
cumy whmib HLublummer

(C) Liquid and Gas
Slyaid wHmb eumy

w Liquid and solid in powder form

dreud wHmd HLLQurmeT (FreT eugeugdldd)

(E) Answer not known
cflenL Ggflwaiicvene

The level of solid in the tank is a measured by using which one
method?
Qarigwlé® oerer S sdar erey hs @@ pepewll  LWETUHES)
SterellL_LiLBEpg).
\{ Gamma ray absorption method

som sl o N@rssd wpen
(B) Bin type electrical capacitance method

Qamiiy euans W6 QameTeramey (penD

(C) Radiation level detector
sflieiss Hlove sl &Hmell

(D) Ultrasonic level detector
BOwred flanaw sawrHlsd -

(E) Answer not known
eflen Qsflweldane
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78.

79.

type of level transmitter is best suited for use in narrow

tanks or vessels.

level ftransmitter aes @Endu OsTigsdr SoRg

ursfriseafles LweaTLHSS Wsa|b CuTBSSOTETF.

(A)

(©)

B

Ultrasonic (B) Non-guided wave Radar
SQwmrad s LU rg ena Grumi
Capacitance wrFloat and tape
Qasriurdl_Léev ' Wigeneu wHYID BHirm

Answer not known
aflenL Ggflweidens

Fundamental difference between radar instruments and ultrasonic

Instrument is type of wave used

CGrumt  smells@gh  dolgrGeralls s@mellE@wn LweTU Mg LU RID
SigliteLwuner semauller cuems _ -

B)
©
(D)

(E)

MRadio Wa\;e and Sound wav—e

CrgCur oeme whHnib el ame

Sound wave and Radio wave
@6l e whmb CrgCur e

Sound wave
60 e

Radio wave
CrigGu oiene

Answer not known
allenL Qg flwslldene
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80. How much an ultrasonic pulse travels at the speed of

¢¢s ultrasonic pulse erauauarey Ceauisgfld Lweisdeamper.
1,496 Meters/sec (B) 2,496 Meters/sec
(C) 3,496 Meters/sec (D) 4,496 Meters/sec

(E) Answer not known
afen GgfMweicane

81. . is the measured unit of UPS output rating.
UPS eeyry Griig TN SIVSTH BerssiILIHEDS.
(A) Voltage ' ' (B) Ampere.
CeurcoGrgy W
W Volt ampere (D) Farad
Goumed . <y bilwir SHGuL

(E) Answer not known
sllen QAgflwaidena

82. A DIAC is equivalent to
- DIAC erétiigt .~ swwmeg.

(A) TRIAC with two gates
@ran® “Cs”-s@sLen snigw TRIAC
(B) Diode and two resistors
aLCurh wppb 2 Arfleviger
(C) Pair pf SCRs
SCR Ggmy.
M Pair of four layer SCRs
preng Gowi SCR Gemg

(E) Answer not known
cdlenL AzNwedcrencd
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83. makes an online UPS different from offline UPS.
areaar UPS-5 g uieeda UPS-& @mbs Capubssifing.

(A) Charge controller (B) Battery
ity g Cyred GurLm

W@ Static switch (D) AC/DC rectifier
GoL g & s & AC/DC Qpégepuwi

(E) Answer not known
aden Qaflweiidena

84. ATRIACisa
TRIAC erénug

\q{ bilateral device

Gt Fé) FTgeid

(B) two terminal device
Qe (penansamer QETaTL FTSHETLD

(C) Unilateral device
yellGal rd sngend

(D) 4 terminal device
BN, (penansenet Qaram _ srgend

(E) Answer not known
MevL Qs flwacildana
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85. In an SCR, the ‘holding current’ refers to
SCR -& Canrédwi sraw. ereamig o GO Dg.
(A) The maximum current an SCR can withstand
SCR -gé s sagw oiflsul s sram

\B( The minimum current needed to keep the SCR in the ON state
SCR -g ‘e ﬁmwuﬁ]m DeUES Gg,mmuu@m GPDBEULE SreiT

(®)) The current flowing through gate terminal

‘Ca’ QLiflend euflung LiMuEsnig L ST

(D) The current flowing through the anode terminal
‘g Camm” QLiflered aufluing LImu&sniqul sreim

(E) Answer not known
eflenL Qpflwuefdana

86. The eneréy band gap of siiicon 18

Sadlsanatlen eramisdl Guentl. GaL S GLD.
! 112ev (B) 1.41eV
(C) 2.83eV (D) 0.79 eV

(E) Answer not known
alilen Qg flwelcrene

87. For évery 10°C rise in temperature, the diode reverse saturation

current
geaGeurg 10°C @Guuuﬂma) 2 wWite}&@L, Gml_@u_lrnq.@r Meuiraiv Eﬁ&@%@ﬁ&@ﬁ
ST 24,615

doubles (B) reduces by one-third

@)% LBISTEGD epamdled (H LBISTS @Dy
(C) becomes 3 times ‘ (D) halves -

PG LOL MBI mELD urSwimg o

(E) Answer not known
eflen Qs flweldena
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88.

89.

If the load resistance decreases in a zener regulator, the zener
current
SBant Q@G fld Cam QyflevlLeren Gapwbd Qumpg, sfart &reTi
2T
U{ Decreases
GPDUYD
(B) Stays the same
2Cg Hlenawuiler @ms@b
(C) Increases
SafsEGh

(D) Equals the source voltage divided by series resistance .
Cemitevy  CeumreGLghengy, Garit GdrfldvlLemedy - UGSSSDE
FLOLOM(GLD

(E) Answer not known
eflenL Qgflweldens

If the value of collector current Ic increases, then the value of Vck
sQ@sL sram_-an (Ic) vy sifsfgsrd, Vi -ar wdluy

(A) Remains the same WDecreases
| =G ey GHEED | Gopyw
(C) Increases (D) Zero

AL EAE T Gy

(E) Answer not known
efenL Gsflueidama
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90. The current gain value of common base configuration is
smwer Guev s Lanwinllen sram’ Clswier-ar wiy

(A) Greater than 20 (B) 10
20-g il oiflad 10
) 20 \ZrLess than one

20 aTenm L EGemmey

(E) Answer not known
aflenL Qzflweicensy

91. The voltage across the load in a basic transistor shunt regulator is
set(s) by component(s) |
em Gusls wgrrenflevi eger’ Qr@GalLfleo, GCorGée GmsGs o drar
CeurerCGLghengy Qe GQFwicug)

(A) Zener diode
shamit e Guim(h)

(B) Transistor base-emitter voltage
grremevdevL it Guev Tl L it GeaumerGLgh

.8 Both (A) and (B)
(A) wpmiob (B)

(D) PN junction diode
- PN - griager e G

(E) Answer not known
aflen GsMwaiideama
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92. A zener voltage regulator is used for

93.

load currents.

shanit GeumebGLgh QrgGal i Carl syemghars LweTUGE DS .
(A) high (B) very high

Siflswman e HEwrs
(C) moderate ‘{small

Wlgomen (GNDeLTET

(E) Answer not known
fenL. Gsflweddame

The symbol represents

" @PSE eiiuug N
]’ - Drain (D)
I t———>——0 Substrate (B)
Gate o- s - .
(@ lSource ®
+
(A) JFET
JFET
(B) IGBT
IGBT

W P channel MOSFET depletion type
P - Gsené» MOSFET g uiafsen cuans

(D) N channel MOSFET depletion type
N - Gsarer MOSFET wuiefleen cuens

(E) Answer not known
. clenL Gzflweicorene
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94. How gate is biased in JFET?
JFET -ér Cs1_ eréuaumy Lwmev(® QediutinGépg ?

(A) AC supply function
AC stieer Qewdumige

(B) Forward biased

uriiGeuf(p) Lwmev
M Reverse biased
Meu e Lwimev(
(D) Dual supply function
Bue sliemer LkiaseT

(E) Answer not known
cflenL Qgflwefcreney

95. The iﬁput impedance of a common gate éonﬁgured JFET is
srwer Csl sl Lewiiy JEET -6 eyt @G ére

\6 low (B) average

(GOMey Fyradl
(C) high ' (D) very high
&L s iglsid
(E) Answer not known
. eflen Qeflueildanc

96. Flip Flops required to construct a decade counter are.
15 CaL seyaLiT-eow 2 (haurds Caaneulinfid Liaflli-coliermii-é eramaniléans

(A) 10 (B) 8
€) 5 o 4

(E) Answér not known
cllenL Qgflweilcdensy -
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97. The circuit number of the IC that contains four two-input AND

gates in standard TTL is

Berowrer TTL-& preng, @ranr® @earny AND CGal saeans GQanere 1C-an
GTo0aT

(A) 7404 (B) 7402

e 7408 (D) 7432

(E) Answer not known

cflenL Qzfiweildenc

98. Express (2534)10 in BCD form
(2534)10 - 98y wguSHD TSI

(A)

(E)

(0010 0100 0100 0100)BcD (B) (0010 0101 0110 0100)BcD

Y (001001010011 0100)sco (D) (0010 0100 0101 0010)scp

Answer not known
allen QzNweildene

99. A IC 555 will have
md 555- ‘ Q& T e (B&HS)LD.

M 2 comparators, 1 RS-flip flop, 1 discharge transistor

(B)

(©)

D)

(E)

2 gbuGrrrisdr, 1 <y i.erev Ceflh-viermt, 1 gevarisy wrmerdlev i
2 comparators, 2 RS flip flop, 1 discharge transistor

2 sbuCrlLirsedr, 2 gyiered Uafll-tiermt, 1 qeavgmi wuymemdlevi
1 comparator, 2 RS flip flop, 1 discharge transistor

1 sbuGrro, 2 eyierev Veflu-verm, 1 geverisy grmerdlevL it

1 comparator, 1 RS flip flop, 1 discharge transistor

1 swuGrri, 1 gyi.erev tefils-tienmd, 1 gevamTey g yremdlev it

Answer not known
eflenL @sflweldrency
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100. CMRR parameter in an instrumentation amplifier stands for
@erevHEweanCLager o dlleflanuiwfles Aerbyiigyi ereéim  eTayE  TadS
GDEADS ?

(B)

(©

(D)

(E)

Common mode rejection ratio

arwer Guorh flosaper CraflGuir

Common medium rejection ratio
srwer Biqguib Mmseger CradiGuim

Common mode ratio of reference
et Gurh CrafdGum v Arrilrersv

Common medium reference ratio
smwenr Brywih Griulyensy CradGuim

Answer not known
cilenL_ Qgrﬂu_laﬁld)mo)

101. The value of the colour code resistor with red, green, blue is

s Garl GrflevLmfle faliy, usems, Fawb Csram g —— wdlenu
Gh&dpg

v’ 25 Mo (B) 250 MQ

€) 2.5 MQ | (D) 0.25 MQ

(E)

Answer not known
eflent Aghiwaidena
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102. A substance which has a large number of free electrons at room
temperature is called a
genp Qeutindleneuildr oifle aamerfldamaulier Cf erasl grenser CameamT ¢

Qummer ————— eram SdP&EELIUBADS
(A) Insulator
@enaGal i

(B) Semiconductor
Q&L& FEHTL_&LIT
W Conductor
SHeTL &L (T
(D) Both conductor and semiconductor
sm_sL-i1 wHmb dellsem_sLi
(E) Answer not known
efler Qzsfweiicana

103. Electrons contained in a coulomb of electric charge is
@ Fagilb erus Mg srigddr Camam@erar eravsl grenaatier erawrantisamns

(A) 6.25 x 108electrons (B) 6.25 x 1012 electrons
6.25 X 108 cravs_grenger - 6.25 x 1012 grevs1_grenaer -

(C) 6.25 x 10186 electrons W6.25 x 1018 electrons
6.25 X 1018 grav&1_gmeigerr 6.25 X 1018 qravs_rranser

(E) Answer not known
dilen Qaflweiidena
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104. The reciprocal of resistance of a conductor is
e sLsHG6n WearsmLullen smassip

(A) Impedance (B) Capacitance
@buL_énev CaurdLemen

YJ Conductance (D) Inductance
SHeHTL.& LTl O (- =1

(E): Answer not known
fen Qsflwefdena

105. The difference between a conductor and an insulator 1s
HAL&LIT whpid GensGalLi-&@ 2 atar Gaupin()

(A) Conductors are used in high voltage applications, while
insulators are used in low voltage applications

sl sLisaT  ofls  dererpss | uweTurlighHe ummu@aﬂmg.
T @ensaGal Lisdr Geaphs WeanaTipss Liwatun iy @ Lweu@dng:

(B) There is no difference between a conductor and an insulator
seL&LT whpid GenaGol i @en Cu eabg Caumur@ib oo
‘(6 Conductors allow current to flow through them, while
insulators do not

sHLGL T g wfiCw BarGarm i ang umweliGib, peTTED
@enalal Lirasdr eueurm Qaliwrg

(D) Insulators are made of metal, while conductors are made of
. non-metal materials : :

QereCal Lisar o Carsmsearmd yerg saLsliser 2 Gorswho
Qurmlaearmed <y g

(E) - Answer not known
eflenL QgMwallcrency
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106. The basic requirements of a servomotor is that it must produce high
torque all
grGeurGum L fer sigliven,. GCameusdr arataneuemprd sieanss
Sdls pnsGadimsawu 2 (Feurss CeuampHib

(A) Loads (B) Frequencies
GCar@sdr SIS TQleumaaT

\J Speeds (D) Voltages
Coughiger ' GeurarGLghaar

(E) Answer not known
eflenL Agflwualdena

107. The main purpose of performing open-circuit test on a transformer is

to measure its
@@ wyresevuriofle Spps spmy Cengearer Aeweugen psdlu Crrésd s

2laredl Heugm@GLd _

(A) Copper loss ' (B) Total loss
sTiur @woy Qurgs @i

W Core loss (D) Insulation resistance
Gam @iy WBlemamiiy Wlemgen

(E) Answer not known
sHlenL Qgfweiidene

108. The speed of the rotation of the stepper motor depends on

ev@Luur GumtLrilédr s&phélufer Cauasld ——— amipH(HEHGD
(A) Torque (B) Number of input pulses
L& : @eTyL uaevsaflen eraimaniléans
\( Frequency of input pulses (D) Solenmd
@ey udavsafien oiflibleuesr gredlermii (b

(E) Answer not known
cflen GgMweloena
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109. A d.c. generator is a machine that converts
5.8, QgarGr Lt erengyd Guipfyn ——— wrHméng
(A) Electrical energy into mechanical energy
Senarmhmene @uipdly phoans wrHndnsg
Mechanical energy into electrical energy
Qupdr Yppee Baamppons wiHndng
(C) Low electrical energy into high electrical energy
@@p Wearampneaa ifs Beararmbpeans wropdlng
(D) Low currents into high currents
G®DHEs WaGermi Lses sifiswrer WBerGeanm Liors wrhmrlna)

(E) Answer not known
aflenL GgMwieiicrana

110. The DC motor used:for constant speed drive is :
feveowrer Geus Qusssdd@r LwaTuRSSILERD 4.8, Com_Lrr
(A) DC series motor
.8, Efev Guommy
w DC shunt motor
g.8. ager Gurlmi
(C) Differential long shunt compound motor
Gaupiul L Beir agen sweeu GumLmit
(D) Differential short shunt compound motor
Caugiulr ndlu ager seweneu GumlLmi

(E) Answer not known
eller QgMwaldvana
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111. How many compressions and breaths should you do for each cycle of

112.

CPR? ,
Slsyi-Gen  geadeunm  sPHfEEn  HsMEaT  SPSSHESET  LHDID

seumsmisenend Glaiw GeuerHb

(A) 15 compressions, 2 breaths
15 essnsdr, 2 seunshser

(B) 30 compressions, 5 breaths
30 sssriser, O seunsniser

W 30 compressions, 2 breaths
30 oissrseT, 2 Heungn&er

(D) 15 compressions, 5 breaths
15 sissiisar, 5 seunFmsen

(E) Answer not known
eflen_ Ugflueidena,

A micrometer has an error of + 0.02 mm. What is the correct value
in mm, when the micrometer reads 15.43 mm?

@wsCrmsrLféed Geypwrag + 0.02 B8 <6 @ussn Curg, Hs
aw&CrmBr LM 15.43 .18 eiare) s Gib Gurgl, Siser 2 airepowimer 1.8
Y3 NTE

A) 15.39 W5 15,41
©) 15.45 | ®) 15.47

(E) Answer not known
allen Qgflweldeana
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113. For twisting, pulling and gripping small jobs is used
APw Cauee Qurmlsemer wpwmés GSpss wLOMID FPpsswors YlKés

vweTuHEHDs)
(A) File (B) Spanner
sa@LIG) evGuemi
(C) Micrometer \6 Plier
anw&GymBLL Lienemusit

(E) Answer not known
eflen Qgflwefdeme

114. The maximum size of drill bit used in electrical hand drilling
machine is
SR @sssanigu anenry gealln @QubHrsHed LweTUBSSUILEID
g fléd Gigenr lsuils Bjemey

(A) 2mm , S 12 mm
2 8.8 12 8.8
(C) 6mm (D) 4 mm
6 5.8 4 8.8
(E) . Answer not known
allenL Qgfweildena
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115. The blade fitted on the back of a vernier caliper can be used for
Qeutrafluir sraluuflar Qearypsded Qurmssaur Hierer AGerE
vweTu G Eng)

‘( Depth measurements of hole
gleunrrsailenr DpSMG SieTHS

(B) Angle measurements
Carahsmar |aThs

(O External diameter measurements
Geuell el L tugsaner ojends

(D) Internal diameter measurements
2 @1 el L RISeneT 2ieTéa.

(E) Answer not known
eflenL Qgflweildensy

116. The lead-acid cell should never be discharged beyohd

Gool e Aed gm Guigib — - &@E (GOPEUNSE IQEENTEH 26
el Mg).

N 18V (B) 1.9V

€ 2V - (D) 2.1V

(E) Answer not known
eflenL Qsflweldena
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117. Two coils have self inductances of 10H and 2H, the mutual
inductance being zero, if the two coils are connected in series, the
total inductance will be
@Qran® sr@eosdr 10H wpow 2H sawmergsnCer  gram_dasmend

Qaranpdtarar. D @etenn @amS SI@TLO Uhdunrs @msdng.
@euaiy smiosernd Gsrillmari@d Gamarsasliul iy mEsre dAgar (Liss

e ———— BI(HSE LD
() 6H | (B) 8H
~ 12H | (D) 24H

(E) Answer not known
_ allen Ggflwellevena

118. Ampere hour capacity of an industrial battery is based on
hours discharge rate

awm Gsmfiingieop GulLfuléd gwllur epeur SHper —— wafiGEy
GeuellGubhn cNflgsms sytivuamLwnss Qanar g ] ’

v s B) 12

(C) 16 (D) 24
(E) Answer not known
- ailene Agflweiidwvana

119. The total capacitance when three capacitors c¢;, ¢, and c; are
" connected 1n parallel ' '
€1, Copmb €3 W eperny QaLiLmHLiser Eenem @enewriiblen Cumg
Siper Awrgs CalurdllLarev Wiy

(A) ¢ llcg+eg) '\601"‘62*‘03 |
(C)y 9l +c3) (D) l+l+l,
¢, Cy C3

(E) Answer not known
len Qafwellcene
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120. Two filament lamps A and B take 0.84 and 0.94 respectively
when connected across 110V supply. Find the resistance in each
filament
@ram® Gerwam st A wpmn B, 110V sueass @orCu Qeearsghn
Gurg 0.84 womd 0.94 wepGu BeaGemiLibd umidng. Ger@uénrger
WlerganL_ufler whliemu samsdlHs.

110 110 (B) 110x0.8,110x0.9
0.8° 0.9
(C) 110+0.8,110+0.9 (D) 110-0.8,110-0.9

{E) Answer not known
eflenL Qaflwelldana

121. The meter that indicates gallons per minute most likely measures

HlL_sHib @ Camaramars @Ghls@Ewn BL LT QUEBbUTGID ——— BeTHGLD
(A) " Total flow ' Flow rate '

Qurgs U Lb UL dab
(C) Laminar flow (D) Turbulent flow

Caowlermi gL L-1b LiryQeven @l L (b

(E) Answer not known -
alenL. Qgflweiidene

51 439-INSTRUMENT MECHANIC
[Turn over



122. Vortex—shedding meters are unsuitable for use on
QeurQLgev Qasligm BLL g ——— vwetur_igh@ QumEHESWwHnS
(A) low-viscosity liguids
G®DHS un@Gssarentn Carer. Syeumser
\ﬂf high—viscosity liquids
adla ungssaneno WararL Hyeunisar
- (C) Clean fluids
SIOOLWITE SeBISET
(D) Decreasing viscosity fluid
UTGSSIImL G@ndlenn Slreukiser

(E). Answer not known
sllenL. Ggflwaeldena

123. The flow meter which cannot measure bidirectional flow is
@S UL s emell (piguing eliGemmbLLir

(A) Ultrasonic flow meter
BQwmed gL B

w Turbine flow meter

Liranue oC1Gemm WBC Lt

(C) Electromagnetic flow meter
a5 GrrGusarg s ~liGerm SLLir

(D) Coriolis mass flow meter
QarflGuredley Qeu@gen oLiGarm S Lir

(E) Answer not known
_a_‘ﬂam_ Asflweildena
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124. The movement of fixed volumes in an operating pr1n01ple of

125.

flow measurement
QUL erailger Qusss Ceratensuier Hleowwrar Agsngsdsear

Qudsbd
(A) Orifice (B) Coriolis
< flepLiev smilGuredlen
" Positive displacement (D) Venturi
Grirenm @ UIQuuwirsd) - Gleuanafl
(E) Answer not known

allenL Agflweilcoensy

The induced voltage in the magnetic flow meter
&Mhs @l B feé gram_ Ui Weranpdsid

‘{is directly proportional to volumetric flow rate

(B)

©)

)

(E)

urdy, Gl f& UL aldlssHneE Crrg. eNldlsremywmgb

is inversely proportional to volumetric flow rate

amowGw s UL dfssHneG saad) elldsremyorgd

is proportional to square of volumetric flow rate

aumdy@dwi s UL ddssder sgrsdne eNdgremyom@id

is inversely proportional to square of volumetric flow rate

s Gt iy fls Ui ddssdern sgr58nE smady edgreryorgd

Answer not known
cllenL Qgifluyeicrancy
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126. The flow meter used in gas flow measurement and utilizes

temperature differences?

aumy UL oareiliggd whmh GetwBlee Gaumurhsemer BeT&EsL

LWETUHID epu L BC L

(A) Coriolis Flow meter
arfCumeleiv gu L Bt i

(C) Vortex Flow meter
Qaur@Lgeiv gor L B L

(E) Answer not known
allenL. AgNwueicoens

127.
Spps Coareller flrau @ L Hflgsmgs —
Y(g' Orifice meter
< famuan B
(C) Rectangular weir
Qgsueua eflwir
(E) Answer not known
aflenL Gsflwellcrena
128.

measurement then it 1s called as

(B) Venturi Flow meter
Qeuama gL L LB LT

wThermal Flow meter

Qginoed UL 8L

Liquid flow rate in an open channel cannot be measured by a/an

D eTel (Pig TG

(B) Cipolletti weir
Suulelg efwr

(D) V-notch
V-prég

If the flow rate is calculated by time and volumetric flow

@UL &ldsb, GCoyb wHmbd @i ereifLer samsSd GetwniirLmd

<D eheu

(A) Secondary calibration
, Qasamf sredlliCrages

(C) Standard calibration
euLmeT (R srelLCrasen

(E) Answer not known
ellenL Qgilwelcdrane
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\{Primary calibration
Qengwifl srellliGrager

(D) Wind tunnel calibration
eMlei(p Lerared smallliGranes



129. The current maintance revolution of data through high speed

network connection is

2FGeus QpL Geuris @eewtiy eped srejsefler sHCurengwu Ty

&pHé

(A) Industry 1.0
QsmPie 1.0

(C) Industry 3.0
Qgmfler 3.0

(E) Answer not known

cllenL Ggilweilcrens

(B) Industry 2.0
Qgmeé 2.0

‘WIndustry 4.0

Qazmfer 4.0

130. Mass flow measurements of dry Bulk material on
Qurss QummLseflar Geugbliger @U L ojetelif eremug

Conveyor Belt
senGeuwm Guel
Ultrasonic flow
BAwred gL b

(E) Answer not known
dflerL Qasflwsiidena

©

-

(B) Thermal mass flow
Qeutiu Geu@dgen gl L 1b

(D) Coriolis mass flow
Qamfloen QeuEbmer @i Lib

131. The pressure measured by DP transmitter
ig.19. grremevlll L jré HemSESLLED (PSS

(A) absolute pressure
Qurss <iPpssd

(C) Vacuum pressure
QeupdlL (WssDd

Answer not known
afler Asflweiidenc

(E)

55

(B) Gauge pressure
Cath DAWHpD

%ifferential pressure

Caupul L Sipssh
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132. The measurement principle of microwave solid flow meter

based on
aw&CrmGeaicy L gl 1 rsatlen @ukigh s&geubd
~ Doppler Effect (B) Vortex
Lmoeri elleneray Ui L&el
(C) Thermal (D) Coriolis
Qgiroed | gl Gumelleny
- (E) Answer not known
elen Qsflwelflcene

133. When there is no flow through rotémeter, the float rests at?
GorirmBleféd eahs @l @dwors Gung, Wsmen ais

O(m&@ELD.
(A) top of meter tube Kbottom of meter tube
B gupnder Guadymgsd B gender SpLnsHa
(C) middle of meter tube (D) any position
B gyprnder phHedlea s Hlevevudigyid

(E) Answer not known
dflen Ggflweldena

134. Notch is a device used for measuring
Crpris @ens emeilL. LweTLIHE DS

(A) Velocity through small channels
ANlw Caaned epavid Couasams iemeli
(B) Velocity through pipes
GRMuseT epab Caussans erallL
(C) Rate of flow through pipes
GmuseT eufiuing umyb @l L lfgsms el
\6 Rate of flow through small channels

fplw Geandsar auflunsg Ty Ui flssms erell

(E) Answer not known
cflenL. @gMlwelcvene
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135. The orifice plate categorized into ——— type.

g fleusy gL ——— auamstiuGssriung.

(A) one ' (B) two
e Gran®

(C) three & four
epeTy) BTG,

(E) Answer not.known
eflenL Qgflweidene

136. The unit of flow rate is

L L efflggdlem @
(A) pounds per square inch (B) feet per second
LG | <SG Sl / elermg
\6 gallons per minute (D) inches of water
: Gaeer / SO b : Setentiilenn ik Geigeaiic

(E) Answer not known
eflenL. Qsflueiideama

137. The parameter of fluid flow does not effect its Reynolds number
ey @ L sHlen Sjemeys e Qranmelev eramenant LITSl&Emg) ?

(A) density of fluid

graugdler oiiigd
(B) mean fluid velocity
Areugdlen eansGousid
‘{ temperature of fluid

freusHen QeauiuBlana

(D) characteristics of dimension of fluid flow cross-section
Sreu @l gflen GREGLIeuLIgE ueae Liflwreid

(E) Answer not known
cflenL Qzflueicene
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138. Raindrops are spherical because of
wepsgetiadt Carer ailgILNE @)(HES STTID

v surface tension forces (B) air resistance
Cuhugiiy QLereger ellensaermed arples erdliliLimed

(C) viscosity (D) atmospheric pressure
LIM@SSemenLowimeD cuafleimLe SI(PSS5STE

(E) Answer not known
eflen Qzflweilcana

4

139. A nozzle meter is used to measure.

Brfled B & SiaTael SlaTs LLETLRADS.
(A) viscosity Wﬂow rate
eflevamdl iy QL L fldlgd
(C) volume _ (D) velocity
S DETE SHangGaussid

(E) Answer not known
effen Qgfweildene

140. The unit of rate of flow of discharge is
QeuellGuppser g L llflgsslan e,

(A) m%sec %m?’/sec
8ol ' 5% eflammg

(C) litres X sec (D) litres® X sec
el it X aflammg. _ AL X eflarmg

(E) Answer not known
e Qzflwueldana
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141. The temperature range of the thermocouple is
QsiGursudaler Qeutiuflene aupby (Cress)

v _ 270 to 1800°C (B) — 200 to 1200°C
(C) +200 to 1400°C (D) — 100 to 450°C

(E) Answer not known
eflen Gzfweildanea

142. In a thermocouple element, heat energy transferred to the hot
junction is converted into electrical energy by
(. Gg,rr@wrr&;ué]m sel g dle, @,|_rr66r &Eﬁuua;@ wrHpLLGL deutiugdpe
epeib Wlem <y mmens WwrHoliubhEng _

(A) Johnson’s effect gSeebeck effect
sonensaflen aflanarey EQus Senerey
(C) Hall effect (D) Faraday’s effect
: apré ellenarey : soumrGLllelr efleneray

(E) Answer not known
efen @sflwueiichensay

143. Thermocouple is suitable for measuring
QzrGorsuldar arellL ghHng

(A) Liquid temperature only

ey Qeuiufleve I Hid
(B) Very high temperature only

e e Geurliuflene W Hibd
(C) Very low temperature only .

flas @aphs Ceutiuflene wL ({Hib
W Both high and low temperature

2wt wHOID GH@DHS Geutiuflenad @ye(id

(E) Answer not known
' eflenL Qzfweildeana
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144. The produced by the thermocouple is always small.

QaiGuorsiler 2 (Haurdahd quCurgb HHwugts @) HHEGW.
(A) current W voltage

WewGerrm_LLb lenen(pssid
(C) resistance (D) frequency

LileigenL S euer

(E) Answer not known
clilewL Ggflweilcdrens

145. Bimetal thermometer was less accurate but more

measuring than the glass thermometer.
@ 2C0wrs Qevuwrell &samenmy GQevuwnrefeow &L geoediunb

(GODEUNGTH| ,@TTED Slareii(hb Fmgemd.

(A) precise Mrugged
glsvedlwiomer . WL HSsaromer

(C) clear path (D) straight
Qszafleunar Limens Gpymer

(E) Answer not known
eflen Qs flweidena
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146. Working principle of mercury in glass thermometer is
ungrs semeanly. Geutiuflevawnall Qeudu@hn sHge6uD

Volumetric expansion
et ellfiersaLd

(B) Pressure rise with temperature
QeutiublenayL et SiWEHLD 2 WiTse

(C) Linear expansion
Grflwd eflfleursan

(D) Non linear expansion
Grilwe derg afleurssid

(E) Answer not known
eleve. Qsflwefdana

147. The resistance thermometer require
T Qrflev@uene QgTGwmBLLitgeflédr Lwsmu@ssrin@ib sigwl

(A) AC circuit (B) DC circuit
a8 shp) g8 sHm)
Bridge circuit (D) All of these
OfC g shm _ glweu JMeTGGILD

(E) Answer not known
el Qgfweiidvana

148. The RTD’s sensing element identify by
RTD-Wér o awrireydlpetr 2 mitiGesr ienLwimemnm@d

N PT 100 Q@ 0°C - (B) PT 100 Q @ 100°C
(©) PT 100 Q @ —200°C (D) PT 100 Q @ + 200°C

(E) Answer not known
- ellen Qzflweildvene
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149. RTDis a
RTD eréug @

(A) Negative Temperature Co-efficient
erflimwenm GeulitBlene @enewr QawdSme

w Positive Temperature Co-efficient
Crireny CQeutiuflerey @ enam Gewddmesr

(C) Linear Temperature Co-efficient
Crflwe Geurtuiflena @enawt Glawicdmer

(D) Non-linear Temperature Co-efficient
Crflwed dergs Geautiufla Gamear Gewdwdper

(E) Answer not known
eflen Qg flweldena

150. Which of the following devices is used to. measure relatively high
temperatures, such as encountered in Furnaces?
Qeutin 2 enovgefles  erdliGamatoug  Gumery Uil Lereflédd s wir
Qeutiuflenaenis jerell. Wemeupbd srgamsatles erg LWETLRSSILHHDS

(A) Bolo meter WPyrometer
GurGeom S ‘ euGrr B

(C) Tachometer (D) Flux meter
CLGam S f Werdev B L

(E) Answer not known
ellent_ GgMlwelcdens
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151. What material is commonly used in RTD elements?
RTD & Qungieuns e saflon (2-.Garsib) LweL@SsOLGE DS 2

(A) Silicon 7 Platinum
HleSlameit 1Slemmiig.eurid
(C) Aluminium (D) Copper
S blafiun STUUIr

(E) Answer not known
eilen Qgflwaeildens

152. Normal human body temperature 98.6°F. In Kelvin scale is —————
gngnyerr wafls oLeler Geiud 98.6° unjeanadll @) samer Ga;suefﬂsm

Slerail iy d wrpmb Cumrg ——— e &@G.
(A) 320K (B) 300K
320 Gadefier _ 300 Gl&eellehr
©) 308K " 31015k
308 Gasdveileir 310.15 Geedellen

(E) Answer not known
dllenL Qgfweildeane
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153. Fundamental interval means
Dy uume @e Geledl ererugy

\K Temperature interval between ice point and steam point
uefl yerefl whHmb Hrrell  yerel @eLCw  odter  Gewuublerew
@ Geuaf

(B) Temperature interval between solid point and liquid point
S yerefl wpmid Hreu yeref! Qe Cuwirer Qeutiuflana @eant Geuaf

(C) Temperature interval between solid point and ice point
Luyerefl whmw uefl yerefl @enL Guwirer GeutiuBlane Gen Ceuat
’ o . _ _

(D) Temperature interval between solid point and steam point
Sroyerafl wpmn Byre® Lerell @enL Cuwrer Qaitiuflene @en Qeuaf]

(E) Answer not known
elten Waflwelrency

154. Temperature define defined as
Qeuiufleney ereueumml U TLIMISSHILIGE DS

M degree of heat (B) degree of angle

Qeutin ojerey Caremgdlen 2jarey

(C) degree of liquid , (D) degree of gas
Areu oierey UL SieTey

(E) Answer not known
ellenL Agflwelidbena

155. Heat depends on the of atoms and molecules.

Qeuliulb SIGDIEEET DHMILD @mé;ahgjassrﬂsh ———— L Qurr@gg,ja;.

(A) Velocity & Speed
HansCaugid Geusib

(C) Temperature _ (D) None of these
Qeutiuflenco @eupdler ergia|dene

(E) Answer not known
eflenL QgMweldena
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156.

157."

158.

formula is used to convert from one unit to another unit.

@®m S mHg

vweTuhEsLUBE DS
(A) Mixed
SeoliLment
(C) Static
Blaneowsmer
(E) Answer not known

cflenL Qg flusiicraney

LHADTH  DDGEE

LoD GSSTD

monversion

LrHOLD

(D) Dynamic
wribledl

Which one is part of paperless recorder?
@ &nlgonn Qrésmrimer, g@m LESHumsEd

(A) Diode
e Cuimr®

(O ElectrOmagnet
Ol & THSLD

Answer not known
aflen- Qzsflweldana

()

Memory card slot
Quowfl s eveomi

(D) Permanent magﬁet
Blrpsy snbsn

The paperless recorder is mainly composed of
arflgflder Qresri_r wpasfwwns e (peunssLuBEps

KMicroprocessor

BIaTQFuwad
(C) PLC
Gerevdl
(E) Answer not known

eflewL Qgflweldena

65

(B) Voltage
Wear(psHb

(D) SCADA

euGmLIT
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159. Strip chart recorder is a
oMl sl Qr&smiLiT ereLig)

b{ Graphic recorder

160.

161.

(B)
©)
D)

(E)

Syms Qrssmiri

Oscillographic recorder
< HCeoordlymQls Cyssmiiit

Magnetic tape type recorder
&S S cuand GpsEmii

None of these
@eneu eTgieyld @ldena

Answer not known
ellenL Gzflweldana

A circular recorder uses
@ UL Grsaniid LweTu@Bsgieus

A)

©

(E)

A toggle switch operates through

Rectilinear chart
CrrGar_{ aflarésruLLb

Square chart
g8 eflem&asliLLLb

Answer not known
ellen Ggflweildema

(B) Curvilinear chart
cuenara] efleT&Ss L LD

\{)Circular chart

el elend&sliuLLb

mechanism

RO LTSS el & eThs Dawdaparpulen epen Geudubfng.

(A)

©)

(E)

Sliding
GUENEg i
Rotating
spHél

Answer not known
eflen Qsflweldane
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162. It helps the mechanical limit switch returns to its original position.
Aussrallésd w6l ¢ Quey Hlowse Smbyaams Qg 2 nd Cealdpg.

163.

164.

()(Return Spring

A Lewm eulGM

(C) Contact Block
sr&wLrsL. SleTné
(E) Answer not known

cflenL Qzflwuelwene

(B) Terminal

Qb esed

(D) Actuator

2 SHEGeUL_LIT

Which of the following power switches has only two terminal?
@ren Auindersd CGasrame Leut &l & erg?

X Diac

LIS
(C) GTO
Hae’
(E) Answer not known

eflenL Qgflweldency

(B) TRIAC

Lywimé

(D) SCR

T 8.2y .

The type of following is a type of proximity sensor.

Geneumeuen genm Arma&Sdllly. Ceearan.

( Photo Electric Sensor
SGUILCLT erasiy s Cedrem

(C) Turbine
L_ITen LIGhT
(E) Answer not known

dlenL Qzflwaidena

67

(B) Strain gauge
evl_ Qe Gagh

(D) Strain gauge with weight
aor @uuish GashujL e Geuudi
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165. The sensing range of a proximity switch.
Qrrésef il sefll S 2 awmieiler autby.

(A) The size of the object being sensed
o arpluBib Gummetlar ojearey

\{ The distance from the switch to the object being sensed
el fled(mbg o errriumi QUTmEnéE 2 erer GIh

(C) The temperature of the object being sensed
2 awrrLiu{Hin Qummenen Qeusuflane

(D) The type of material of the object being sensed

2 emrriuhi Qumpeflen Quligfweler euens

(E) Ans;iver not known
e Qsflweldena

166.- Which one of the following is not a PLC manufacturer?
Gereupeuencup e erg PLC e pugdwmert oiden?

(A) Allen Bradley KMicrosoft
<everr Llgm el aw&Crremir

(C) Siemens (D) Mitsubishi
EQ bebreiv ‘ O sGad)

(E) Answer not known
elen Qafweildane
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167. Match the following type
Qemaupid euandenuits Qummsg.

(a) HART 1. 4-20 mA
Qi 4-20 mA

(b) Analog 2.  Multidrop
D@L oYL Ig lg MLl

() FSK 3. Analog Capability
erleTav e Sjemens Slpe

(d) Network 4. HART Communication

- OplQeurid anmi’. Qgrfiy '

@ ® © @
a4 3 2 1

3 1 4 2
©1 3 4 2
™3 -4 1 2

(E) Answer not known
aflen Qgflweildvenay

168. Which one is PLC programming language?
PLC Wen flyorss Qumfl eg ?

Sequential Function chart (B) Assembly Language

Qarui Gewedur® efeTdsliLLib Qa6 Gl
(C) Machine Language (D) ‘C' Language

Quidy Qumd ‘C' Qumf

(E) Answer not known
eflenL Qgflwelrene
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169. Programming languages being used in PLC today are
Baparasdd PLC Wé nwaru@gsiu@n Qomf

A 'C (B) BASIC
'C' Guéls
] Ladder Logic (D) All of the above
goafl Hir&aD CuoCa 2 drer mansgid
(E) Answer not known |
ellen QgMweicrensy

170. Which of the following statements are true about I/O?
I/O updh Qeneumhd sapmsefld org 2 @menio?

(1) The integral type remote I/O allows a limited transmission
distance upto 4.5 kilometers.

" prhdeoaps wes MGt /O 4.5 ACamSiLiser eueny
aemunsstiulL ufliorhn grises iawdsdpng.

(11) The transmitter / receiver type remote I/O allows virtually
unlimited transmission capability

Transmitter / receiver awes MGwm_ /O &AL gs L eumbubhp
uflwrhp Hperer sigwSadpg.

(111) A unique feature of the PLC is the multiplexed nature of the

I/0 bus.
PLC - safggieuwnnar =ibsb 1/O bus—er wenQQ@arsen Guey
2SO

A) () only | (B) (i) and (ii) only
(1) @b (1) wHmd (11) w Hibd

" 6. i) and (i) only (D) (i) only

(@), (1) wpmd (111) w G (11) w Gib

(E) Answer not known
sllenL Agflwelcrency
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171. The following types of actuators is most commonly used in control

valve
sar Grmed aumdejsamer sLHUUAES ———— N&&Caul Lisdr Qurgeuns
LweruGEDg).
Y( Pneumatic ' (B) Electric
IR g & T f&
(C) Manual (D) Hydraulic
Cueayeue ' enGD1g edl

(E) Answer not known
fenL Asfwefdana

172. The following material is commonly used for construction of control

valve trim
SU_HUUT_(H eurdey il Sewss Weareumd Qur@plsar LweTu Bl arper

Stainless steel . (B) Brass
e (Stainless steel) s semar
(C) Castiron (D) Plastic
@(mby Glemmeivig &
(E) Answer not known
eflenL Qsflwuefdene
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173. The main purpose of control valve positioner is to
s Grré aundvayseflar Hevawrium ger Wwafw GCHrésd

\( Improve the precision of the valve

(B)

©

(D)

(E)

euréey goaiugang Gubu(psgHeug

Eliminate cavitation in the valve

aurdeyseflen @GWuneaens BEEGs0

Increase transmitter accuracy

ggrereulSl L Mer grovallwgens oidamilé@Lb

Alter the fail-safe status of the valve

aurdeysetien Comelyby urgsTiiunear . Hamoew Wwrhpeg

Answer not known
ellenL Qzflweldene

174. The following is a type of actuator in' a hydraulic systéem
W ereu(peuareubMed eim nawig.grelld eums &eHGeul LT

(A) pump (B) valve
by GUTELEY
v cylinder o (D) stainer
& oSl aiorit el L sesTiT
(E) Answer not known

sllenL Qzflweldena
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175. One advantage of an electric to pneumatic valve positioner is
aqas s B Hlwbwys eurdey Qurflageanfler parents emeumommy

(A) it can be used to flow control
Qg @l Lé s’ Quurbseid vwasuRHDS
\6 it produces positive valve position
@5 Griwenn euree| Hleneeniu 2 (HeursGEng)
(C) it conserves energy
By bdoow Calléang

(D) it dampers valve travels‘
@& eurdva) CLbuey sHESHDE

(E) Answer not known
eilen Qgflweildane

176. In analog control system the controller is-made up of
@ars sU_GUur® sienwddled st Crrar aeuppmed =,eng)

(A) Resistors (B) Capacitors
BlergenL BlenGzad)

(C) Operational amplifiers \ﬂﬁ\u of these
Qewdvrc h Qupsdlsar Blaneu iparEHID

(E) Answer not known
eflen Qzflweidena
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177. The value for a process variable that is desired to be maintained 1s

called?
ugmoflgs  eflmoyd @@  Cswudepenp  wrhldlssmenr  wHoy  Geueurm
Sep&suBEng.
(A) Controller \{)Set point
sl HUuu@BsS Cal umbleasn
(C) Process (D) Error
' Qeudperm | 1DenLp

(E) Answer not known
ailenL Gaflueldena

178. Match the following :
1Getreu(peuaTeupanmls AUmmBSHSI.
(a) Proportional (P) 1. To improve stability and decrease
steady stage error

LGrrGuneaserd (P) Beawssamoau GobuBdss wHmD Ermer

Hlepablenipenit Gennss
(b) Integral (I) 2. Toimprove system stability
@en_Ldge (I) flevgdan dvdlyssearemoau CobuBss
(¢) Derivative (D) = 3. To decrease the steady state error
QLAGauigen (D) Frren Bleve Geperw Ganss
(d) Proportional 4. To change the transient behavior
Integral Paoupp pL@semw wrH
Derivative(PID)
LGrrGueiyered

@érdlré QLfGeuly e

@ ® @© @
A1 2 3 4
®B) 2 3 4 1
w4 3 9 1
@3 4 2 1

(E) Answer not known
eflenL Ggflweldrena
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179. Feed forward control system is a/an
S umieuil serGrmed Sevid 6w
(A) Closed loop control system

ePIg W euenaril SUHILUM({H el

(B) Radiation control system
sdlialiss s Huum_{H ey

\6 "Open loop control system
Sobs cuenet sLHULT{H enoiy
(D) Cascade control system
2Q&G sLHUUTL{H Sy

(E) Answer not known
aflenL Qgflweildena

180. A pneumatic system uses
@@ HlyGol s sewiide uwaTLBisgieg

(A) ol (B) water
ereiT(o e Fesrentiv

Wair. _ (D) current
&mhHy S eTEmyLD

(E) Answer not known
aflen @gflweildane
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181. An ammeter is a
@ SO LT eraTLg,

(A) recording instrument (B) absolute instrument
udley &med PP LWITET &(Hed

(C) 1intergrating instrument %secondary instrument
Q(HrSlenars@h &medl @uawLr Hlanew s@med

(E) Answer not known
eflen Gafwaildvena

182. . meter has a linear scale.
B eSaflwir siereney Qana@éereng

(A) thermocouple meter (B) hot wire meter
QzrGwrsinder B @’ eneuwli B L

_‘K moving coil meter - (D) moving iron meter
el smufled S epelit ywrehr LSt

(E) Answer not known
eflew. Gasflusiicena

183. : pressure coil and ‘ current coil are present
in megger.
Gwafle —— Gyagi smuler wBHMIDL —— sraT snbd BHEGLD.

‘(4 two pressure coil and one current coil
Gran@h Wrevst sruld wHmb e sraTl smufed

(B) two pressure coil and two current coil
@rer® Gyevst stuiléd wHmb @rew® srar srule

(C) one pressure coil and one current coil
@@ Wyevar smudléd WHDIb @F STETl sTulld

(D) one pressure coil and two current coil
@@ Wrevat amulldy LHIID G sFeT Hmulle

(E) Answer not known
eflanL Qgflwaildvene
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184.

185.

186.

The unit of torque
Lrirdlen e
(A) Newton | (B) doule
\J Newton meter (D) Joules/Second
Bl et Wi A WAEL L
(E) Answer not known
cllenL Agflweilcene
force is required to move the pointer from Zero position
in an indicating instrument.
——— aueswrar odans smelluier Yshawsder @mbg umdemL ey
Bass GCoameuliuBEng.
(A) Air friction damping (B) Eddy current damping
. g sufldeyer GLibllm ‘ . ey syegre GLtbiGk
% Deflecting force (D) Controlling force
g LiaTig i elleng ser_Grrelln ellens
(E) Answer not known
sflen Qsflwaildana
The sensitivity of PMMC instrument is 10 kQ/V if this instrument
is used in a rectifier type volt meter with half wave rectification the
sensitivity on AC ’ :
PMMC smeluienr semidper 10 kQ/V @b @ns smelleowu @@
Qrégimuwt s GCardr. Biifld oer o SHnsssgH-d
vwerugdemad AC o armidlmen ‘
A) 10ka/V B) 22.2ka/V
@ 45kQ/V (D) 18kQ/V

(E) Answer not known
aflenL @gMuiesisbens
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187. the full form of PMMC meter.
PMMC e 50 Mebr qupp euigeutb

(A) Parallel magnet moving coil meter
Curee Gusarl epeiiis sruiled B L

(B) Position magnet moving coil meter
Qurélager Cusar’ ppeiln smufe B

(C) Principle magnet moving coil meter
: Qferevider Gusem_ (1,06)9@ smudled S
\6 - Permanent magnet moving coil meter
uiwQerner. Guéear apeili sruded B i

(E) Answer not known
ellenL Qg fwaeildana

188, In an indicating instrument the deflecting torque is produced by
using the following effect
e QergGal i smefluie Geramaateuhann LweaTLHSH Nwsd PHIEES
(torque) 2 (raurssLILH DS '

(A) control spring \{magnetic effect
sam_ Qe eotdfim - Guéargs eaerey

(C) damping (D) bearings
G Quwif

(E) Answer not known
allenL Ggflweidana

439-INSTRUMENT MECHANIC 78



189. Alternating current is measured by
DO Oan. srer oiarés
) induction ammeter

PeL_saFem BT

(B) permanent magnet type ammeter
umwerer Gsearl euansd DB L T

(C) electrostatic ammeter
&L Grm aGuL_mg s b L i

(D) MI repulation type voltmeter

epeflen jwer ellwad euenas Geumral. B i

(E) Answer not known
alen QgfNwelldweane

190. Candela is unit of
Candela eremug Gser Siow

Hr luminous intensity (B) magnetic intensity
gaflufen @enGlL el Iq Cuger g é @emQLendt iq

(C) electrical intensity (D) acoustic intensity
el s Gemlemdli iy -gpadlullerr el 1q

(E) Answer not known
efleni AgMwciiders
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191.

is the following disadvantage of PMML instrument.

Qereupeuareunies PMML smeufen Senio

®)
©
®)

(E)

192. Maxwells bridge can be used for measurement of inductance with-

The PMML is very delicate instrument
PMML syeng Wseyb Quetenowner &med

It has a high torque to weight ratio

@g sifls Lmié wHnib aevLeow GaErarg)

It produced low losses due to hystersis

&hs 1Neanent_chlamed Bleneu GOPHS 6Te] FaIL H0E 2 (HEUMSSLD

It does not have uniformly divide scale
@de @Cr wrdilwurer setaCard 1Nfeysdr Edoama

Answer not known
ellen Waflwellcrency

wréevtleud WML gream & etaney satell LweaTURSH DG

w Medium Q factor

(©)

(E)

Bigwib Q GusLir

Very low Q factor
Qeufl Geor Q GuaLir

Answer not known
flenL GgMwelcrency

193. Hot wire instrument have
@D auwiit shedlwimarg

(A)

(©)

(E)

Log scale
g euGaed

Uniform scale
weflssmid dvGad

Answer not known
allen Qasflweledrene

439-INSTRUMENT MECHANIC

(B) High Q factor
e@ani Q GusLi

. (D) Wide range of Q
eveui(p Greirsy Q

KSquare scale

sv@asmur duCad

(D) Non liner scale
Cpflwe odens emey
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194. In a reed type frequency meters all the reeds
L ouens aifliQeucir B L fe filser <y ag)

(A) Have the same natural frequency
2iGg Qubens oiflibeuanaEnb Fob

(B) Have different natural frequency
Qupens sifibeuamaniich Coumunr® o drearg

\66 Have different natural frequency but the difference in natural |
frequencies of adjacent reeds is +£0.5 Hz
Gl Quipes ofiCousm 2 dtarg e #fl Qeiigd BHrawreder
Quipensufen Caugur® +0.5 Hz <y @b

(D) -Have different natural frequency but the difference in natural
frequencies of adjacent reeds is 0.1 Hz
Caupu’ L Qupens odiCeuss o darerg gammed &fl Qeuiigd prarraden
Qupeasda Gaupu L +0.1 Hz g@w

(E) Answer not known
eflenL_ Qzflwefdene

195. The algebraic total the data from the two wattmeter use in the two

wattmeter approach will only reveal the true power
Quipserils Cuwrggs eum’ BLLT @gwepds Grarh eumt S
et ig e @BEGD srey -amenwwrer eur’ QeuefliLBsgib

(A) the load balance
Gar’ Gueene

(B) phase sequence remain unchanged
Gueh A&@Geuanen MHTOD @M@

(C) there is no source unbalance .
aThs epad Fwblavauliarannu]bd Gdanea

\6 neutral wire available does not carry any current

Bt g euwifley erpg WlenGarmi L ib @evena

(E) Answer not known
eflen Qzfweildena
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196. A moving coil instrument can be used as an ammeter by connecting
a suitable resistance.

@@ epailn smie smellenw GuTmsswren WergmLow —— &
QearTuLIETD Smellenwt b i grg LwetuBSsaid

(A) 1n series
Qarit @earidled

6 in parallel

Lea @@t

(C) in series — parallel combination
QarLr-uss el fH GaearTilld

‘(D) a cross another resistance
wH@Aprm WaTsmL&@E GnEsNs

(E) Answer not known
aflen Qg flwefdene

197. In a single phase power factor meter the phase different between the
current in the two pressure coil is
Amdlar Guev veurLGusLi BLLfd @ranp Weaarpss smasalle o drar
WBlenGanmi_L_rus@ensE e CGuw 2 dter Guev Ceumpur(

" (A) Approximately 90° ' ‘{Exacﬂy 90°
Gsmymuwors 90° sflwurs 90°
(C) Approximately 0° (D) Exactly 0°
Ggmymuwrs 0° ' #fliung 0°

(E) Answer not known
aflen_ Ggflweldena
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198. The household energy meter is
siQsaflar 2 LGUNGEHSD o drar ereigl S Lt

(B) A recording instrument

@eing Galig i Glesrevl (r@wam Qrésmitig i @ et (m& e

(D) RPM counting

Oz JI:A L6 TR Y= o T (Y TA T 2,119, 6TiD. S e8ig i

(A) An indicating instrument
Y( An integrating instrument
(E) Answer not known

199. A power factor meter has
’ peuir GugLir 51 M

(A)

©)

(E)

ellen_ Qg flwefdena

One
Qe
Four
L

Answer not known
aler @sflweidena

83

control spring.

ST Crrd 2 areng|.
(B) Two

Bren(

wrZero

b Girm
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200. The following of instrument may be used to measure DC voltage
accurately
.8 Denarsssms soalwnns serell Gemaumb smedl LuETUESADS!.

(A) Induction type instrument
@eTLsaen quans S(mel

(B) Moving iron type instrument
el Sjwiel euens &(Hetl

M Moving coil type instrument
apelilt smuiled euens smell

(D) Electrodynamic type instrument
as_GrredLanis auams shel

(E) Answer not known
clen Gzflwelidend
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